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KFC/SEM,	KFC/SEMA	

rovnice,	nerovnice	

	

	

	

p	

	

Řešte	v	R:	

1) 𝑥! + #2√3 + 1(𝑥 + 3 + √3 = 0																																														

2) (1 − 𝑥!)! − 2(𝑥! − 1) + 1 = 0																																								

3) 4𝑥! − 4𝑥 + 1 = 0																																																																	

4) √2𝑥 + 7 + √𝑥 − 5 = √3𝑥 + 2																																								

5) 3√𝑥 + 5 − 5 = 𝑥																																																																		

6) 2−𝑥 − √1 − 𝑥 = 1																																																														

7) √𝑥 + 𝑥 = 2																																																																													

8) log!(𝑥 + 1) = 3																																																																		

9) log! 𝑥 = 3																																																																																

10) log 𝑥 = 2 log 5 + log 4																																																								

11) 		#$%!('()!)
#$%!(()+)

= 2																																																																										

12) log!(𝑥 + 7) − log! 𝑥 = 3																																																			

13) 3( + 3(,- = 108																																																																		

14) 3( + 3(,- = 7 ∙ 4( − 4(,-																																																	

15) √4(" ∙ √2()+! = √16# 																																																													

16) 4!( − 6 ∙ 4( + 8 = 0																																																														

17) 𝑥(𝑎 − 1) + 𝑎(𝑥 + 4) = 2	,										𝑎 − 𝑝𝑎𝑟𝑎𝑚𝑒𝑡𝑟	

18) 𝑥𝑎! = 𝑎(1 + 3𝑥) − 3,																		𝑎 − 𝑝𝑎𝑟𝑎𝑚𝑒𝑡𝑟	

19) |𝑥 − 4| + |2𝑥 − 1| = |𝑥| + 3																																														

20) (,!
+()!

≤ 0																																																																														

21) 𝑥! − 2𝑥 − 15 ≥ 0											

22) |3 − 4𝑥| > 2	

23) Určete	pro	které	hodnoty	reálného	parametru	má	kvadratická	rovnice	jeden	reálný	
dvojnásobny	kořen:	3𝑐(𝑥 − 2) + 4𝑥 = 2(𝑥! + 1),																		𝑐 − 𝑝𝑎𝑟𝑎𝑚𝑒𝑡𝑟	

24) 𝑥! − |𝑥 + 2| = 𝑥 + 13	
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Výsledky:  

1) −√3 − 1;−√3	
2) √2;	−√2	
3) 0.5	
4) 5	
5) -5;	4	
6) -3	
7) 1	
8) 7	
9) 8	
10) 100	
11) 11	
12) 1	
13) 3	
14) 1	
15) 2	
16) 0.5;	1	
17) F𝑎 = -

!
			𝑥𝜖ℛ; 𝑎𝜖ℛ\ F-

!
J 	𝑥𝜖{−2}J	

18) {𝑎 = 0	𝑥𝜖∅; 𝑎 = 3	𝑥𝜖ℛ; 𝑎𝜖ℛ\{0,3}	𝑥𝜖{-
.
}}	

19) 𝑥 ∈ 〈-
!
, 4〉	

20) 𝑥 ∈	< −	2, !
+
)	

21) 𝑥 ∈ (−∞,−3 >∪	< 5,+∞)		
22) T−∞, -

/
U ∪ T0

/
, ∞U	

23) 0; 1
+
	

24) −√11; 5	
	
	

 


